EQAO REVIEW #4
1.
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[bookmark: _GoBack]2. What is the initial value?  What is the rate of change?  What is an equation that represents his daily pay?


3.  Graph Sanjay’s pay.


4.  Mir makes more money for one day’s work but less money per subscription he sells.  Graph a line for Mir on the same grid.  Label the two lines:  Sanjay and Mir.

5.  Which company pays better?
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2.  Make an equation for William’s costs and 
complete the table below.
	Number of Songs
	Total Monthly Cost ($)

	0
	

	5
	

	10
	

	15
	


3. Make a graph to represent William’s monthly cost.

4.   Kalley joins another music club.  Her monthly fee is less and her cost per song is higher.  Sketch a line for Kalley on the same graph.

5.  Which company is the better deal?
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2.   What is the initial value and the rate of change of a)
       What is an equation for a)
       What is a sentence that describes the cost for a pizza a)
					3.  Make a table of values for b)
					      What is the initial value?
					      What is the rate of change?
4.   What is the initial value and the rate of change of c)
       What is an equation for c)
       What is a sentence that describes the cost for a pizza  c)
					5.  Make an equation for a company that has a higher initial value but a lower rate of change.  Write a sentence to describe the cost of pizza at this company.
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2.  Make a graph for the Membership that is direct variation.

3.  On the same grid, make a graph for the Membership that is partial variation.

4. Make a equation for both memberships.

5.  Which membership is the better deal?
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2. Make a table of values for the graph above.

3. A second company charges a membership fee of $10 plus $2.50 per game.  
What is the cost equation for this company?  
How much would it cost to play 20 games?
How many games could you play for $75?

4. Make a table of values for the company from #3

5. Graph both companies of one grid.  Which is the better deal?
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A basketball club offers two types of
‘memberships.

+ Membership Y: No registration fee and
SIS per hour for court time.

« Membership Z: $40 registration fee and
55 per hour for court time.

‘Which o these relationships is a partial
arition, and what i s intial cost?

b
©
Il

Membership Y; S0
Membership Y; 15
Membership Z; 55
Membership Z; $40
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An arcade charges each customer an
admission fee plus a cost to play each game.
‘The relationship between the total cost, C,
and the number of games played, n, is
shown on the grid below.

Total Cost vs. Number
of Games Played
c

Total cost ($)

REERERER)
Number of games played

‘Which equation below represents this
relationship?
a c=

Sn+s

C=05n+75
C=25n+5
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Sanjay makes $20 per day plus S8 for
every magazine subscription he sells.
Which of the following tables shows data

from the relationship between his total daily
pay and the number of subscriptions he sells?

Number of Total
subscriptions|  daily pay

sold ®

[ 20

1 28

2 36

3 4

4 52

b
Number of Total

subscriptions|  daily pay

sold ®

[ 20

1 20

2 20

3 20

4 20

Number of Total
subscriptions|  daily pay

sold ®

[ 8

1 28

2 48

3 68

4 88

Number of Total

subscriptions|  daily pay

sold ®

[ [

1 8

2 16

3 2

4 32
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‘William belongs to a music downloading
club. He pays S8 a month plus $0.50 per
song downloaded.

‘Which of the following shows information
about the relationship between the total
‘monthly cost, in dollars, and the number

of songs downloaded?
a Numberof | Total monthly
songs. cost ($)
10 800
20 13.00
30 18.00
W 2300
b [ Numberof | Total montnly
songs. cost (8)
o 800
10 850
20 200
30 250
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A restaurant charges $3 for a cheese pizza
plus 2 per additional opping.
‘Which of the following shows two models
that represent the rlationship between the
tota cost ofa piza. C, and the number of
additional toppings on it, 12

Number of | Total cost, C
toppings,n | (5

o 3
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2 Whatis the nitalvalue? What s the rat o change? What is an equation
that represents his daily pay?

3. Graph Sanjay's pay.

4. Mir makes more money fo one day's work butless money per subscrption
e el Grapha line for Miron the same gid. Label the two lncs: Sanjay and
Mir

5. Which company pays better?



